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General Instructions :

1.  There are 31 questions in all.

2. Marks for each question are indicated against it.

3. All questions are compulsory.

4 Write the same question number as given in the question paper while answering
question in your answer book.

5. (i) Answer to MCQs of 1 mark should be out of (a), (b), (c) or (d) only.
(i) Answer to each question of 3 marks should not exceed 60 words.
(iii) Answer to question of 5 marks should not exceed 120 words.

6.  Both the Maps should be attached inside the answer book.
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1.

Which of the following is the correct way of making an alloy? 1
(@) By mixing two or more metals.

(b) By mixing two or more non-metals.

(c) By mixing metals and non-metals.

(d) By mixing metals and coal.

frefafaa o 9 fug urg o %1 @& e SiA-T 82
(a) A Ao 3UY A urgew & T

(b) ] ral 3UY ek teged ol ey

(c) wrgetl R srergsti 1 foemeRyl

(d) wmgett IR el i et
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2. Which one of the following is NOT an example of commercial agriculture?

(@) Shifting Agriculture (b) Extensive Agriculture
(c) Intensive Agriculture (d) Plantation Agriculture
frefefed & 9@ i |1 e Hiu 1 ISR Tl 87
(a) Tl FH (b) forga Ffu
(c) e Ffu (d) =mm Ffw
3. Which city of India is known as "The silicon valley of India"?
(@) Pune (b) Jamshedpur
(c) Ahmedabad (d) Bengaluru
9RA HT HE T TR “9RG w1 fafqw[ gl & W " S S 2
(a) O (b) SHIER
(c) STEHIER (d) dTgE
4. Which of the following countries has the density of population more than 6000
persons/sqKm?
(@) Bhutan (b) China
(c) Singapore (d) India

frefafea <o o 9 fog 29 o SHEe &1 "9 6000 SAfed gfq ot
foRelre 9 ffyes 872

(a) M (b) =
(c) famgR (d) 9Rd
5. Who amongst the following founded Marathi newspaper, 'Mook Nayak'
(Leader of the Dumb)?
(@) Mahatma Gandhi (b)  Dr. Bhim Rao Ambedkar
(c) Jyotiba Phule (d) Shri Narayan Guru

frafafed 5 9 fre wUdl st@ar “geaEes” (P & Ad) 1 T
1?2

(a) WETE TER (b) L. | T@ T=EHT

(¢) sfaer oo (d) &t T e
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6.  Who among the following organized Police into a regular force?

(@) Lord Minto (b) Lord Cornwallis
(c) Lord Curzon (d) Lord Wellesley
frfatea o o e gfa™ &1 el 9a & ®9 § Ted fwan?
(a) «r€ fHa (b) @€ HHaTH
(c) wrE whaid (d) < dfersedt

7. Who is popularly known as Frontier Gandhi?
(@) Sardar Vallabh Bhai Patel (b) Subhash Chandra Bose
(c) Mohammad Ali Jinnah (d) Abdul Gaffar Khan
“dmiq e % iR fgE T W I S S @7
(a) TER IEA¥E 9od (b) M == 99
(c) HE™R 37ell 5= (d) 3| TFRR ©MH

8. According to the Constitution of India, who has the power to impose Emergency

in the country?

(@) President of India (b)  Vice President of India
(c) Chief Justice of India (d) Prime Minister of India
TR HfGeM & SITER 39 H ST i SHH0M shid HL Hehel &7
(a) 9 hT qULA (b) R kT IULATT
(c) war=a =i (d) 9Rd sl GuEEs
9.  The Lok Adalat is normally Presided over by a
(a) Sittingjudge (b)  District collector
(c) retired judge (d) Tehsildar
S=a IEeE & e fH9 o § dar fgd e €2
(a) P =T (b) foremefter
(c) Hen fga =t (d) dEHIER
10. Who was the Chairman of Second Backward Classes Commission?
(@) Dr. Bhim Rao Ambedkar (b) B.P.Mandal
(c) Jyotiba Phule (d)  Shri Narayan Guru
fedta fumer ol e @1 qufa wE e
(a) SI Ao TEHT (b) sidl. Hsad
(c) SAfaen Fal (d) &t TREw e
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Explain any three differences between Extensive and Intensive Agriculture.

Ted 3R faega &t & &g 9 R T Hifsm)

Why is agriculture called the backbone of India's economic development?
F o wRA & A T &1 7% < i Ted B2

How can Industries be classified on the basis of ownership? Support your
answer with examples.

e & SUN W I ki HY ofiehd Tohal ST Hehal 82 3107 Sl &
qHeH H 3 i)

How has IT industry transformed India?

A, S A fFE YHER UG F WEY I8 72

State any three changes brought about by the reform movements in the Indian
society.

AN GUR ARl g1 9RAE T oMU fF= dF agarel &1 S’
Hifsa

Mention any three major acts of revolutionaries that shocked the Britishers.
HITAHIA & TH T THE FAl T Ioci@ HIfIT [SaiH AU Tl HAhsAR
fean =t

Explain any three main provisions of the Indian Independence Act of 1947.

TR Taaaar stfufaem, 1947 & foe=l dF 9oy s e st

What is meant by the term "Executive as an organ of the government?
Distniguish between the two types of Executive in India.

WHER & TH 3 & &9 4 “wrefufas” e 9 Fa1 Afque 22 9rd °
HTIAIASRT & Sl B H A T HiTST)

Differentiate between the Civil and the Criminal cases. Give examples

for each.

~

ol R BISRE ThSA! H R TR HIfNU YOE & fau SEE
s

What is meant by reservation under the Reservation Policy? What is the main
purpose behind the introduction of 'Reservation Policy' by the Government
of India?

“oReror Hfifg” & Sidla ¢ SR ¥ W Iy B2 T8 AN § 9Ra
TR 1 &F 339 F1 A17
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21.

22.

23.

24,

25.

26.

What does the "Prevention of Atrocities Act of 1989" aim at? Mention any four

offences that are punishable under this Act. 2+1=3
1989 & “TER JhAM AUFRE" &1 T YT 27 TGS HAd wH 9
TR STE % fow wen < S w82
What are Non-Conventional sources of energy? Explain with the help of three
examples how will such sources benefit the mankind in future. 2+3=5
“IR R Sl WA § A qerd ©2 R i See i werE
U I8 W= Hifay fe 3 gaeq fve yar gfass § gHe sifd sl st
EIU
Explain any five factors that affect the population distribution by giving suitable
examples. 5x1=5
S i gifad w e fREl Ui hRehl i ST ST T T
RIS

OR (3794)
What is meant by density of population? Why do we measure it? Explain the
three broad regions into which India can be grouped on the basis of population
density. 1+1+3=5
SIHEA B § N SATIE 87 TH Tl TUE i W &7 SHHEST T
% MR W 9RA I o6 &9 yg@ &= o anfira fovan ST @b 22 =amem
I
What major construction and development work took place in Delhi during
the years 1805-1937. 5
feoet o 1805-1937 & <= ¥ @1 yq@ fwio R fawm e gul
Why was Non-cooperation Movement started by Mahatma Gandhi? What
methods of protest were used by the people to oppose the British Rule? 1+4=5
HETCH TE < 3TN STiaie i & fohan? iUt wee & faiy & fou
SR S RE G T H ST
Highlight the challanges faced by the newly independent India in 1947. How
were these problems solved by the government later on? 2+3=5

1947 ¥ 9 Tdd WA & THeT 3ME FATGAl hi SR Hifery) g gt
F G TWER 7 9% F Y fHar
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OR (3¥d)

Dr. Abdul Kalam said "The day is not far when enlightened and ignited minds

will transform India into a competitive beautiful nation". Suggest five ways to

fulfil the dreams of Dr. Kalam. 5x1=5
Tl AW & YRl § ‘o7 K7 o1 g TS S ek qe dey ol ¢ R

! Toh G AR <9 o 9 F d_d 391" S Hed H FOA hl AR

wH & fog di= gera i)

27. Describe any five powers of the Prime minister of India? 5x1=5

ARd & YUFEA b1 fopeg] 9rg viferqal &1 o0 hiteIq)

28. Explain the powers and functions of the Supreme Court of India. 5
qRd & =R 1 il 3R &l S e $ifag|

29. Who are Musahars? What problems have they faced in the past? What factors
are responsible for their social and economic backwardness? 1+2+2=5
fehl QT h! @GR 8l Sl €2 o7did § Sl foh Tt i gea fepan?
e TSI 3R e fU=ew & 8 & 4 &R SaEEl €72

OR (3¥d)

Who are called the "minorities"? How do the Sikhs and Muslims the two
minority group in India, differ from each other? 1+4=5

feh ol STeTHEAsh el Sl 82 qiem 3R foee 9ia & T Sfeqdeds 9,

o 7R T TR 9 = B2

30. (i) Two features (A)and (B) are shown on the political outline map of India.
Identify these features with the help of the following information and
write their names on the lines marked on the map.

(A) The place where moderates and radicals reunited in 1916.
(B) The Place where historic resolution of Purna Swaraj or complete
independence was passed in 1929.
(ii) On the same outline map of India locate and label the following
place :

(C) The State where Veeresalingam Kandkuri worked for the
upliftment of downtrodden. 2+1=3
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31.

(i) 9RA & W 9gEET W I A (A) TN (B) IWW T B A & T
ol & YR W IR TEAE qe 39e T AW & M W@ei W
fefan -

(A) 1916 =1 =8 TJM W&l TRH AR T <o 1 B gaie gl
(B) 9% TIF &1 1929 ¥ YUl @S A¥El I @aadl &1 Ufqeiias
Hehed I1RA femam |

(i) feu U & gEfas w fefafea o sifed ST sk 3w 9™
fafea-

(C) 98 T el dRAfaT™ hend 3 Usg o & s & fau &
EXRU

Note :- For visually impaired students in lieu of Q. No. 30

Tz - WH, 30 B T W The wife P @ A SEts T

(i) Name the place which remained the capital of Britishers in India
till 1911.

(i) Name the place where Gandhi Ji broke the Salt Law.

(iii) Name the place where first meeting of Indian National Congress took
place.

(i) 9RA o1 98 BT S 1911 T AU i TSEE @I

(ii) 98 S S8l Mefs 4 T4 KT drell

(iii) I8 STE el Sifee YR HIUE 1 Tean AavH ga

(i) Two features A and B are marked on the given political outline map of
world. Identify these features with the help of the following information
and write their correct names on the lines marked in the map.

(A) Animportant Iron producing country of North America.
(B) A cotton textile manufacturing country of Asia.

(i) On the same outline political map of the world, locate and label the
following with appropriate symbols.

(C) Russia - An important iron and steel manufacturing country.

(D) Brazil - An important bauxite producing country.
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(i) FER % Toifaeh T AHAfEE T < A0 (A) T (B) I9T T F1 == < 77 g
% SMYR W 3= Y-y a1 39 Fet 99 & T et R fafem)
(A) 3T HRHT T Tk Aeqvl Mgl SR 9|
(B) ¥ &1 T Tl o IARH ST

(ii) ST TC HOR & S Toifeh HHe W FAfarad i Suge o=l g1 k@
qern 3% 9 fafe)
(C) ¥@ - U Hequl el IR eqd SR 39|
(D) SISl - Weh HE@Yul dTeIge 3cdeeh ae|

Alternative question for visually impaired students in lieu of Q. No. 31

. ¥ 31 & W W e aifia faanfd & fau demfeus gom

31.1. An important iron producing country of North America.

31.2. Which Indian city is known as "Manchester of India"?

31.3. Which is the most important iron and steel manufacturing country
of Europe?

31.4. Which is the important copper producing nation of South America? 4x1=4

31.1. 30 SR H Tk He@Ul AR SRS <30

31.2. 9RA & fohd WX 1 9RA H1 AR hEl T @7

31.3. A9 HT TH AU AIE-TE IURH 397

31.4. Tf&01 STHRHT H1 TH Hequl il IR I
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Roll No. (STIsHIF) India-Political (¥R~ TST-ifeh)
Map for Question No. 30(a) [T.9. 30 & fow AHf==]
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World-Political (FHR-THfdeh)

Roll No. (3ThHIH)

Map for Question No. 31 [9.8. 31 & faw dMf=]

b NoZHET

[ 0€

uBipUSIN

(10)

VIII-SOCIAL SCIENCE



VIII-SOCIAL SCIENCE



